

Summary of Bids Received

Project: Lewis Avenue Resurfacing

Section: 14-00999-05-RS

Description: Mill and resurface, bridge removal

Bidder Peter Baker & Son Company J. A. Johnson Paving Company Payne & Dolan, Inc.	Address 1349 Rockland Road 1025 E. Addison Court 1700 120th Ave.	City, State, Zip Lake Bluff, IL 60044 Arlington Heights, IL 60005 Kenosha, WI 53144	Bond Bid Bond Bid Bond Bid Bond	Bid Price \$2,040,437.17 \$2,098,890.00 \$2,224,407.25	% Over/Under Eng. Estimate -13.46% -10.98% -5.66%	-\$259,011.42
Engineer's Estimate				\$2,357,901.42		
Design	IDOT(2)	Contract Bidder	F	JT then Plan Rack		
Finance	Bid Tab File	Resident Eng.		administrative Assis	stant	
Construction	Project File	Request By Mail	Λ.	Лgr Capital Progran	nming	



Project: Lewis Avenue Resurfacing

Section: 14-00999-05-RS

Description: Mill and resurface, bridge removal

Item No.	Pay Code	Description	Quantity	Unit	Eng Esti	mate	J. A. Johnson Pav	ving Company	Payne & Do	olan, Inc.	Peter Baker &	Son Company
					Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price
1	20200100	EARTH EXCAVATION	125.0	CU YD	\$150.00	\$18,750.00	\$90.00	\$11,250.00	\$200.00	\$25,000.00	\$130.00	\$16,250.00
2	20800150	TRENCH BACKFILL	16.0	CU YD	\$100.00	\$1,600.00	\$40.00	\$640.00	\$5.00	\$80.00	\$75.00	\$1,200.00
3	25200200	SUPPLEMENTAL WATERING	100.0	UNIT	\$25.00	\$2,500.00	\$0.10	\$10.00	\$50.00	\$5,000.00	\$1.00	\$100.00
4	28000510	INLET FILTERS	1.0	EACH	\$300.00	\$300.00	\$200.00	\$200.00	\$300.00	\$300.00	\$495.00	\$495.00
5	35101400	AGGREGATE BASE COURSE, TYPE B	870.0	TON	\$30.00	\$26,100.00	\$1.00	\$870.00	\$34.00	\$29,580.00	\$1.00	\$870.00
6	40600275	BITUMINOUS MATERIALS (PRIME COAT)	174,330.0	POUND	\$0.10	\$17,433.00	\$0.01	\$1,743.30	\$0.01	\$1,743.30	\$0.01	\$1,743.30
7		MIXTURE FOR CRACKS, JOINTS, AND FLANGEWAYS	10.0	TON	\$500.00	\$5,000.00	\$400.00	\$4,000.00	\$500.00	\$5,000.00	\$850.00	\$8,500.00
8	40600535	LEVELING BINDER (HAND METHOD), N70	10.0	TON	\$200.00	\$2,000.00	\$350.00	\$3,500.00	\$500.00	\$5,000.00	\$850.00	\$8,500.00
9	40600827	POLYMERIZED LEVELING BINDER (MACHINE METHOD), IL-4.75, N50	1,686.0	TON	\$100.00	\$168,600.00	\$110.00	\$185,460.00	\$105.00	\$177,030.00	\$104.35	\$175,934.10
10	40600990	TEMPORARY RAMP	626.0	SQ YD	\$30.00	\$18,780.00	\$4.25	\$2,660.50	\$45.00	\$28,170.00	\$2.00	\$1,252.00
11	40603085	HOT-MIX ASPHALT BINDER COURSE, IL- 19.0, N70	3,277.0	TON	\$80.00	\$262,160.00	\$75.00	\$245,775.00	\$81.00	\$265,437.00	\$59.20	\$193,998.40
12	10603310	HOT-MIX ASPHALT SURFACE COURSE, MIX "D", N70	5,954.0	TON	\$90.00	\$535,860.00	\$81.50	\$485,251.00	\$84.00	\$500,136.00	\$79.75	\$474,831.50
13	42001300	PROTECTIVE COAT	6,073.0	SQ YD	\$3.00	\$18,219.00	\$1.50	\$9,109.50	\$1.50	\$9,109.50	\$0.01	\$60.73
14	42400200	PORTLAND CEMENT CONCRETE SIDEWALK 5 INCH	5,381.0	SQ FT	\$7.00	\$37,667.00	\$6.00	\$32,286.00	\$6.50	\$34,976.50	\$7.61	\$40,949.41
15	42400800	DETECTABLE WARNINGS	363.0	SQ FT	\$40.00	\$14,520.00	\$32.00	\$11,616.00	\$30.00	\$10,890.00	\$47.50	\$17,242.50
16	44000155	HOT-MIX ASPHALT SURFACE REMOVAL, 1 1/2"	748.0	SQ YD	\$4.00	\$2,992.00	\$8.00	\$5,984.00	\$11.00	\$8,228.00	\$13.55	\$10,135.40
17	44000158	HOT-MIX ASPHALT SURFACE REMOVAL, 2 1/4"	42,359.0	SQ YD	\$4.50	\$190,615.50	\$2.05	\$86,835.95	\$3.00	\$127,077.00	\$2.85	\$120,723.15
18		HOT-MIX ASPHALT SURFACE REMOVAL, 3 3/4"	17,284.0	SQ YD	\$5.00	\$86,420.00	\$3.55	\$61,358.20	\$5.00	\$86,420.00	\$5.10	\$88,148.40
19	44000200	DRIVEWAY PAVEMENT REMOVAL	2,460.0	SQ YD	\$15.00	\$36,900.00	\$10.00	\$24,600.00	\$20.00	\$49,200.00	\$5.00	\$12,300.00
20	44000300	CURB REMOVAL	670.0	FOOT	\$8.00	\$5,360.00	\$6.00	\$4,020.00	\$5.00	\$3,350.00	\$5.15	\$3,450.50
21	44000500	COMBINATION CURB AND GUTTER REMOVAL	1,274.0	FOOT	\$8.00	\$10,192.00	\$6.00	\$7,644.00	\$4.00	\$5,096.00	\$6.00	\$7,644.00
22	44000600	SIDEWALK REMOVAL	2,710.0	SQ FT	\$4.00	\$10,840.00	\$2.00	\$5,420.00	\$1.50	\$4,065.00	\$1.50	\$4,065.00
23		PAVED SHOULDER REMOVAL	382.0	SQ YD	\$15.00	\$5,730.00	\$11.00	\$4,202.00	\$20.00	\$7,640.00	\$18.65	\$7,124.30
24		CLASS D PATCHES, TYPE I, 12 INCH	468.0	SQ YD	\$50.00	\$23,400.00	\$20.00	\$9,360.00	\$140.00	\$65,520.00	\$32.00	\$14,976.00
25		CLASS D PATCHES, TYPE II, 12 INCH	548.0	SQ YD	\$50.00	\$27,400.00	\$20.00	\$10,960.00	\$120.00	\$65,760.00	\$32.00	\$17,536.00
26		CLASS D PATCHES, TYPE III, 12 INCH	1,540.0	SQ YD	\$50.00	\$77,000.00	\$20.00	\$30,800.00	\$90.00	\$138,600.00	\$32.00	\$49,280.00
27		CLASS D PATCHES, TYPE IV, 12 INCH	1,095.0	SQ YD	\$50.00	\$54,750.00	\$20.00	\$21,900.00	\$74.00	\$81,030.00	\$32.00	\$35,040.00
28		REMOVAL OF EXISTING STRUCTURES	1.0	EACH	\$75,000.00	\$75,000.00	\$33,200.00	\$33,200.00	\$24,000.00	\$24,000.00	\$23,890.00	\$23,890.00
29	550B0050	STORM SEWERS, CLASS B, TYPE 1 12"	145.0	FOOT	\$60.00	\$8,700.00	\$80.00	\$11,600.00	\$85.00	\$12,325.00	\$80.00	\$11,600.00



Project: Lewis Avenue Resurfacing

Section: 14-00999-05-RS

Description: Mill and resurface, bridge removal

Item No.	Pay Code	Description	Quantity	Unit	Eng Esti	mate	J. A. Johnson Pa	ving Company	Payne & D	olan, Inc.	Peter Baker &	Son Company
					Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price
30	56109210	WATER VALVES TO BE ADJUSTED	6.0	EACH	\$500.00	\$3,000.00	\$400.00	\$2,400.00	\$400.00	\$2,400.00	\$400.00	\$2,400.00
31	60236825	INLETS, TYPE A, TYPE 11V FRAME AND GRATE	1.0	EACH	\$1,500.00	\$1,500.00	\$1,800.00	\$1,800.00	\$1,300.00	\$1,300.00	\$1,800.00	\$1,800.00
32	60240312	INLETS, TYPE B, TYPE 11V FRAME AND GRATE	2.0	EACH	\$2,000.00	\$4,000.00	\$2,000.00	\$4,000.00	\$1,800.00	\$3,600.00	\$2,000.00	\$4,000.00
33		MANHOLES TO BE ADJUSTED	4.0	EACH	\$500.00	\$2,000.00	\$450.00	\$1,800.00	\$400.00	\$1,600.00	\$450.00	\$1,800.00
34	60261220	INLETS TO BE ADJUSTED WITH NEW TYPE 11V FRAME AND GRATE	10.0	EACH	\$750.00	\$7,500.00	\$800.00	\$8,000.00	\$735.00	\$7,350.00	\$1,800.00	\$18,000.00
35	60262000	INLETS TO BE RECONSTRUCTED WITH NEW TYPE 11 FRAME AND GRATE	1.0	EACH	\$1,000.00	\$1,000.00	\$800.00	\$800.00	\$1,350.00	\$1,350.00	\$1,800.00	\$1,800.00
36	60600605	CONCRETE CURB, TYPE B	670.0	FOOT	\$27.00	\$18,090.00	\$25.00	\$16,750.00	\$22.00	\$14,740.00	\$40.00	\$26,800.00
37	60603900	COMBINATION CONCRETE CURB AND GUTTER, TYPE B-6.12 (ABUTTING EXISTING PAVEMENT)	1,224.0	FOOT	\$28.00	\$34,272.00	\$27.50	\$33,660.00	\$33.00	\$40,392.00	\$42.25	\$51,714.00
38	60605100	COMBINATION CONCRETE CURB AND GUTTER, TYPE B-6.24 (ABUTTING EXISTING PAVEMENT)	50.0	FOOT	\$35.00	\$1,750.00	\$65.00	\$3,250.00	\$50.00	\$2,500.00	\$52.35	\$2,617.50
39	67100100	MOBILIZATION	1.0	L SUM	\$136,806.95	\$136,806.95	\$123,000.00	\$123,000.00	\$50.00	\$50.00	\$202,706.01	\$202,706.01
40	70300100	SHORT-TERM PAVEMENT MARKING	29,881.0	FOOT	\$0.50	\$14,940.50	\$0.01	\$298.81	\$0.65	\$19,422.65	\$0.01	\$298.81
41	70300310	TEMPORARY PAVEMENT MARKING - LETTERS AND SYMBOLS	1,138.0	SQ FT	\$2.50	\$2,845.00	\$0.01	\$11.38	\$0.85	\$967.30	\$0.01	\$11.38
42	70300220	TEMPORARY PAVEMENT MARKING - LINE 4"	24,601.0	FOOT	\$0.30	\$7,380.30	\$0.01	\$246.01	\$0.30	\$7,380.30	\$0.01	\$246.01
43	フ ロンロハフンハ	TEMPORARY PAVEMENT MARKING - LINE 5"	5,958.0	FOOT	\$0.40	\$2,383.20	\$0.01	\$59.58	\$0.35	\$2,085.30	\$0.01	\$59.58
44	70300240	TEMPORARY PAVEMENT MARKING - LINE 6"	1,392.0	FOOT	\$0.50	\$696.00	\$0.01	\$13.92	\$0.45	\$626.40	\$0.01	\$13.92
45	70200260	TEMPORARY PAVEMENT MARKING - LINE 12"	1,886.0	FOOT	\$1.00	\$1,886.00	\$0.01	\$18.86	\$0.85	\$1,603.10	\$0.01	\$18.86
46		TEMPORARY PAVEMENT MARKING - LINE 24"	330.0	FOOT	\$2.00	\$660.00	\$0.01	\$3.30	\$1.70	\$561.00	\$0.01	\$3.30
47	70300520	PAVEMENT MARKING TAPE, TYPE III 4"	7,470.0	FOOT	\$1.00	\$7,470.00	\$0.01	\$74.70	\$1.00	\$7,470.00	\$0.01	\$74.70
48	70301000	WORK ZONE PAVEMENT MARKING REMOVAL	3,416.0	SQ FT	\$1.00	\$3,416.00	\$0.01	\$34.16	\$1.50	\$5,124.00	\$0.01	\$34.16
49	70000100	THERMOPLASTIC PAVEMENT MARKING - LETTERS AND SYMBOLS	1,138.0	SQ FT	\$5.00	\$5,690.00	\$3.50	\$3,983.00	\$3.50	\$3,983.00	\$3.50	\$3,983.00



Project: Lewis Avenue Resurfacing

Section: 14-00999-05-RS

Description: Mill and resurface, bridge removal

Item No.	Pay Code	Description	Quantity	Unit	Eng Esti	mate	J. A. Johnson Pa	ving Company	Payne & D	olan, Inc.	Peter Baker &	Son Company
					Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price
50	78000200	THERMOPLASTIC PAVEMENT MARKING - LINE 4"	24,601.0	FOOT	\$1.00	\$24,601.00	\$0.50	\$12,300.50	\$0.50	\$12,300.50	\$0.50	\$12,300.50
51	79000200	THERMOPLASTIC PAVEMENT MARKING - LINE 5"	806.0	FOOT	\$1.25	\$1,007.50	\$0.60	\$483.60	\$0.60	\$483.60	\$0.60	\$483.60
52	70000100	THERMOPLASTIC PAVEMENT MARKING - LINE 6"	1,392.0	FOOT	\$1.50	\$2,088.00	\$0.70	\$974.40	\$0.70	\$974.40	\$0.70	\$974.40
53	70000600	THERMOPLASTIC PAVEMENT MARKING - LINE 12"	1,886.0	FOOT	\$2.00	\$3,772.00	\$1.40	\$2,640.40	\$1.40	\$2,640.40	\$1.40	\$2,640.40
54	78000650	THERMOPLASTIC PAVEMENT MARKING - LINE 24"	330.0	FOOT	\$4.00	\$1,320.00	\$3.50	\$1,155.00	\$3.50	\$1,155.00	\$3.50	\$1,155.00
55	78001120	PAINT PAVEMENT MARKING - LINE 5"	17,280.0	FOOT	\$0.50	\$8,640.00	\$0.29	\$5,011.20	\$0.30	\$5,184.00	\$0.05	\$864.00
56	78300200	RAISED REFLECTIVE PAVEMENT MARKER REMOVAL	11.0	EACH	\$20.00	\$220.00	\$8.00	\$88.00	\$60.00	\$660.00	\$25.00	\$275.00
57	89502380	REMOVE EXISTING HANDHOLE	4.0	EACH	\$750.00	\$3,000.00	\$2,500.00	\$10,000.00	\$2,500.00	\$10,000.00	\$3,100.00	\$12,400.00
58		REJECTED LOAD TRANSPORTATION	6.0	LOAD	\$500.00	\$3,000.00	\$350.00	\$2,100.00	\$500.00	\$3,000.00	\$500.00	\$3,000.00
59	1 C200501	MAINTENANCE OF TEMPORARY EROSION CONTROL SYSTEMS	6,835.0	UNIT	\$1.00	\$6,835.00	\$1.00	\$6,835.00	\$1.00	\$6,835.00	\$1.00	\$6,835.00
60	LC600200	INSTALL SURVEY MONUMENTS	4.0	EACH	\$500.00	\$2,000.00	\$750.00	\$3,000.00	\$1,000.00	\$4,000.00	\$600.00	\$2,400.00
61	X4401198	HOT-MIX ASPHALT SURFACE REMOVAL VARIABLE DEPTH	1,409.0	SQ YD	\$10.00	\$14,090.00	\$5.40	\$7,608.60	\$8.00	\$11,272.00	\$9.15	\$12,892.35
62	X6030205	FRAMES AND GRATES TO BE ADJUSTED (SPECIAL)	141.0	EACH	\$600.00	\$84,600.00	\$650.00	\$91,650.00	\$685.00	\$96,585.00	\$650.00	\$91,650.00
63	X6700405	ENGINEER'S FIELD OFFICE, TYPE A (MODIFIED)	3.0	CAL MO	\$3,000.00	\$9,000.00	\$3,500.00	\$10,500.00	\$3,225.00	\$9,675.00	\$2,600.00	\$7,800.00
64	X7010216	TRAFFIC CONTROL AND PROTECTION (SPECIAL)	1.0	L SUM	\$68,403.47	\$68,403.47	\$308,832.13	\$308,832.13	\$23,800.00	\$23,800.00	\$99,912.00	\$99,912.00
65	X7810300	RECESSED REFLECTIVE PAVEMENT MARKER	492.0	EACH	\$30.00	\$14,760.00	\$27.25	\$13,407.00	\$27.25	\$13,407.00	\$27.25	\$13,407.00
66		PORTLAND CEMENT CONCRETE DRIVEWAY REMOVAL AND REPLACEMENT	779.0	SQ YD	\$65.00	\$50,635.00	\$65.00	\$50,635.00	\$85.00	\$66,215.00	\$73.00	\$56,867.00
67	XX006343	SEEDING (COMPLETE)	160.0	SQ YD	\$10.00	\$1,600.00	\$18.00	\$2,880.00	\$10.00	\$1,600.00	\$10.00	\$1,600.00
68	XX006344	SODDING (COMPLETE)	1,660.0	SQ YD	\$12.50	\$20,750.00	\$22.00	\$36,520.00	\$20.00	\$33,200.00	\$14.00	\$23,240.00
69	XXNN6779	PERIMETER EROSION BARRIER, ROLLED EXCELSIOR	461.0	FOOT	\$5.00	\$2,305.00	\$10.00	\$4,610.00	\$12.00	\$5,532.00	\$20.00	\$9,220.00
70		MAILBOX POST	18.0	EACH	\$150.00	\$2,700.00	\$150.00	\$2,700.00	\$200.00	\$3,600.00	\$200.00	\$3,600.00
71	Z0018400	DRAINAGE STRUCTURES TO BE ADJUSTED	30.0	EACH	\$1,000.00	\$30,000.00	\$350.00	\$10,500.00	\$400.00	\$12,000.00	\$350.00	\$10,500.00



Project: Lewis Avenue Resurfacing

Section: 14-00999-05-RS

Description: Mill and resurface, bridge removal

Item No.	Pay Code	Description	Quantity	Unit	Eng Estimate Unit Price Fxtnd, Price		J. A. Johnson Pa	aving Company	Payne & D	olan, Inc.	Peter Baker & Son Company	
					Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price
72	Z0019600	DUST CONTROL WATERING	20.0	UNIT	\$25.00	\$500.00	\$100.00	\$2,000.00	\$1.00	\$20.00	\$10.00	\$200.00
		Bid Tota	I			\$2,357,901.42		\$2,098,890.00		\$2,224,407.25		\$2,040,437.17



Project: Lewis Avenue Resurfacing

Section: 14-00999-05-RS

Description: Mill and resurface, bridge removal

					Eng Es	timate			
Item No.	Pay Code	Description	Quantity	Unit	Unit Price	Extnd. Price	Min. Bid Price	Max. Bid Price	Avg. Bid Price
1	20200100	EARTH EXCAVATION	125.0	CU YD	\$150.00	\$18,750.00	\$90.00	\$200.00	·
2	20800150	TRENCH BACKFILL	16.0	CU YD	\$100.00	\$1,600.00	\$5.00	\$75.00	\$40.00
3	25200200	SUPPLEMENTAL WATERING	100.0	UNIT	\$25.00	\$2,500.00	\$0.10	\$50.00	\$17.03
4	28000510	INLET FILTERS	1.0	EACH	\$300.00	\$300.00	\$200.00	\$495.00	\$331.67
5	35101400	AGGREGATE BASE COURSE, TYPE B	870.0	TON	\$30.00	\$26,100.00	\$1.00	\$34.00	\$12.00
6	40600275	BITUMINOUS MATERIALS (PRIME COAT)	174,330.0	POUND	\$0.10	\$17,433.00	\$0.01	\$0.01	\$0.01
7	40600400	MIXTURE FOR CRACKS, JOINTS, AND FLANGEWAYS	10.0	TON	\$500.00	\$5,000.00	\$400.00	\$850.00	\$583.33
8	40600535	LEVELING BINDER (HAND METHOD), N70	10.0	TON	\$200.00	\$2,000.00	\$350.00	\$850.00	\$566.67
9	40600X77	POLYMERIZED LEVELING BINDER (MACHINE METHOD), IL-4.75, N50	1,686.0	TON	\$100.00	\$168,600.00	\$104.35	\$110.00	\$106.45
10	40600990	TEMPORARY RAMP	626.0	SQ YD	\$30.00	\$18,780.00	\$2.00	\$45.00	\$17.08
11	40603085	HOT-MIX ASPHALT BINDER COURSE, 19.0, N70	3,277.0	TON	\$80.00	\$262,160.00	\$59.20	\$81.00	\$71.73
12	40603340	HOT-MIX ASPHALT SURFACE COURSE, MIX "D", N70	5,954.0	TON	\$90.00	\$535,860.00	\$79.75	\$84.00	\$81.75
13	42001300	PROTECTIVE COAT	6,073.0	SQ YD	\$3.00	\$18,219.00	\$0.01	\$1.50	\$1.00
14	42400200	PORTLAND CEMENT CONCRETE SIDEWALK 5 INCH	5,381.0	SQ FT	\$7.00	\$37,667.00	\$6.00	\$7.61	\$6.70
15	42400800	DETECTABLE WARNINGS	363.0	SQ FT	\$40.00	\$14,520.00	\$30.00	\$47.50	\$36.50



Project: Lewis Avenue Resurfacing

Section: 14-00999-05-RS

Description: Mill and resurface, bridge removal

					Eng Es	timate			
Item No.	Pay Code	Description	Quantity	Unit	Unit Price	Extnd. Price	Min. Bid Price	Max. Bid Price	Avg. Bid Price
16	44000155	HOT-MIX ASPHALT SURFACE REMOVAL, 1 1/2"	748.0	SQ YD	\$4.00	\$2,992.00	\$8.00	\$13.55	\$10.85
17	44000158	HOT-MIX ASPHALT SURFACE REMOVAL, 2 1/4"	42,359.0	SQ YD	\$4.50	\$190,615.50	\$2.05	\$3.00	\$2.63
18	44000164	HOT-MIX ASPHALT SURFACE REMOVAL, 3 3/4"	17,284.0	SQ YD	\$5.00	\$86,420.00	\$3.55	\$5.10	\$4.55
19	44000200	DRIVEWAY PAVEMENT REMOVAL	2,460.0	SQ YD	\$15.00	\$36,900.00	\$5.00	\$20.00	\$11.67
20	44000300	CURB REMOVAL	670.0	FOOT	\$8.00	\$5,360.00	\$5.00	\$6.00	\$5.38
21	44000500	COMBINATION CURB AND GUTTER REMOVAL	1,274.0	FOOT	\$8.00	\$10,192.00	\$4.00	\$6.00	\$5.33
22	44000600	SIDEWALK REMOVAL	2,710.0	SQ FT	\$4.00	\$10,840.00	\$1.50	\$2.00	\$1.67
23	44004250	PAVED SHOULDER REMOVAL	382.0	SQ YD	\$15.00	\$5,730.00	\$11.00	\$20.00	\$16.55
24	44201785	CLASS D PATCHES, TYPE I, 12 INCH	468.0	SQ YD	\$50.00	\$23,400.00	\$20.00	\$140.00	\$64.00
25	44201789	CLASS D PATCHES, TYPE II, 12 INCH	548.0	SQ YD	\$50.00	\$27,400.00	\$20.00	\$120.00	\$57.33
26	44201794	CLASS D PATCHES, TYPE III, 12 INCH	1,540.0	SQ YD	\$50.00	\$77,000.00	\$20.00	\$90.00	\$47.33
27	44201796	CLASS D PATCHES, TYPE IV, 12 INCH	1,095.0	SQ YD	\$50.00	\$54,750.00	\$20.00	\$74.00	\$42.00
28	50100100	REMOVAL OF EXISTING STRUCTURES	1.0	EACH	\$75,000.00	\$75,000.00	\$23,890.00	\$33,200.00	\$27,030.00
29	550B0050	STORM SEWERS, CLASS B, TYPE 1 12"	145.0	FOOT	\$60.00	\$8,700.00	\$80.00	\$85.00	\$81.67
30	56109210	WATER VALVES TO BE ADJUSTED	6.0	EACH	\$500.00	\$3,000.00	\$400.00	\$400.00	\$400.00
31	60236825	INLETS, TYPE A, TYPE 11V FRAME AND GRATE	1.0	EACH	\$1,500.00	\$1,500.00	\$1,300.00	\$1,800.00	\$1,633.33



Project: Lewis Avenue Resurfacing

Section: 14-00999-05-RS

Description: Mill and resurface, bridge removal

					Eng Es	timate			
Item No.	Pay Code	Description	Quantity	Unit	Unit Price	Extnd. Price	Min. Bid Price	Max. Bid Price	Avg. Bid Price
32	60240312	INLETS, TYPE B, TYPE 11V FRAME AND GRATE	2.0	EACH	\$2,000.00	\$4,000.00	\$1,800.00	\$2,000.00	\$1,933.33
33	60255500	MANHOLES TO BE ADJUSTED	4.0	EACH	\$500.00	\$2,000.00	\$400.00	\$450.00	\$433.33
34	60261320	INLETS TO BE ADJUSTED WITH NEW TYPE 11V FRAME AND GRATE	10.0	EACH	\$750.00	\$7,500.00	\$735.00	\$1,800.00	\$1,111.67
35	60263900	INLETS TO BE RECONSTRUCTED WITH NEW TYPE 11 FRAME AND GRATE	1.0	EACH	\$1,000.00	\$1,000.00	\$800.00	\$1,800.00	\$1,316.67
36	60600605	CONCRETE CURB, TYPE B	670.0	FOOT	\$27.00	\$18,090.00	\$22.00	\$40.00	\$29.00
37	60603900	COMBINATION CONCRETE CURB AND GUTTER, TYPE B-6.12 (ABUTTING EXISTING PAVEMENT)	1,224.0	FOOT	\$28.00	\$34,272.00	\$27.50	\$42.25	\$34.25
38	60605100	COMBINATION CONCRETE CURB AND GUTTER, TYPE B-6.24 (ABUTTING EXISTING PAVEMENT)	50.0	FOOT	\$35.00	\$1,750.00	\$50.00	\$65.00	\$55.78
39	67100100	MOBILIZATION	1.0	L SUM	\$136,806.95	\$136,806.95	\$50.00	\$202,706.01	\$108,585.34
40	70300100	SHORT-TERM PAVEMENT MARKING	29,881.0	FOOT	\$0.50	\$14,940.50	\$0.01	\$0.65	\$0.22
41	70300210	TEMPORARY PAVEMENT MARKING - LETTERS AND SYMBOLS	1,138.0	SQ FT	\$2.50	\$2,845.00	\$0.01	\$0.85	\$0.29
42	70300220	TEMPORARY PAVEMENT MARKING - LINE 4"	24,601.0	FOOT	\$0.30	\$7,380.30	\$0.01	\$0.30	\$0.11
43	70300230	TEMPORARY PAVEMENT MARKING - LINE 5"	5,958.0	FOOT	\$0.40	\$2,383.20	\$0.01	\$0.35	\$0.12



Project: Lewis Avenue Resurfacing

Section: 14-00999-05-RS

Description: Mill and resurface, bridge removal

					Eng Es	timate			
Item No.	Pay Code	Description	Quantity	Unit	Unit Price	Extnd. Price	Min. Bid Price	Max. Bid Price	Avg. Bid Price
44	70300240	TEMPORARY PAVEMENT MARKING - LINE 6"	1,392.0	FOOT	\$0.50	\$696.00	\$0.01	\$0.45	\$0.16
45	70300260	TEMPORARY PAVEMENT MARKING - LINE 12"	1,886.0	FOOT	\$1.00	\$1,886.00	\$0.01	\$0.85	\$0.29
46	70300280	TEMPORARY PAVEMENT MARKING - LINE 24"	330.0	FOOT	\$2.00	\$660.00	\$0.01	\$1.70	\$0.57
47	70300520	PAVEMENT MARKING TAPE, TYPE III 4"	7,470.0	FOOT	\$1.00	\$7,470.00	\$0.01	\$1.00	\$0.34
48	70301000	WORK ZONE PAVEMENT MARKING REMOVAL	3,416.0	SQ FT	\$1.00	\$3,416.00	\$0.01	\$1.50	\$0.51
49	78000100	THERMOPLASTIC PAVEMENT MARKING - LETTERS AND SYMBOLS	1,138.0	SQ FT	\$5.00	\$5,690.00	\$3.50	\$3.50	\$3.50
50	78000200	THERMOPLASTIC PAVEMENT MARKING - LINE 4"	24,601.0	FOOT	\$1.00	\$24,601.00	\$0.50	\$0.50	\$0.50
51	78000300	THERMOPLASTIC PAVEMENT MARKING - LINE 5"	806.0	FOOT	\$1.25	\$1,007.50	\$0.60	\$0.60	\$0.60
52	78000400	THERMOPLASTIC PAVEMENT MARKING - LINE 6"	1,392.0	FOOT	\$1.50	\$2,088.00	\$0.70	\$0.70	\$0.70
53	78000600	THERMOPLASTIC PAVEMENT MARKING - LINE 12"	1,886.0	FOOT	\$2.00	\$3,772.00	\$1.40	\$1.40	\$1.40
54	78000650	THERMOPLASTIC PAVEMENT MARKING - LINE 24"	330.0	FOOT	\$4.00	\$1,320.00	\$3.50	\$3.50	\$3.50
55	78001120	PAINT PAVEMENT MARKING - LINE 5"	17,280.0	FOOT	\$0.50	\$8,640.00	\$0.05	\$0.30	\$0.21



Project: Lewis Avenue Resurfacing

Section: 14-00999-05-RS

Description: Mill and resurface, bridge removal

					Eng Es	timate			
Item No.	Pay Code	Description	Quantity	Unit	Unit Price	Extnd. Price	Min. Bid Price	Max. Bid Price	Avg. Bid Price
56	78300200	RAISED REFLECTIVE PAVEMENT MARKER REMOVAL	11.0	EACH	\$20.00	\$220.00	\$8.00	\$60.00	\$31.00
57	89502380	REMOVE EXISTING HANDHOLE	4.0	EACH	\$750.00	\$3,000.00	\$2,500.00	\$3,100.00	\$2,700.00
58	LC200051	REJECTED LOAD TRANSPORTATION	6.0	LOAD	\$500.00	\$3,000.00	\$350.00	\$500.00	\$450.00
59	LC200501	MAINTENANCE OF TEMPORARY EROSION CONTROL SYSTEMS	6,835.0	UNIT	\$1.00	\$6,835.00	\$1.00	\$1.00	\$1.00
60	LC600200	INSTALL SURVEY MONUMENTS	4.0	EACH	\$500.00	\$2,000.00	\$600.00	\$1,000.00	\$783.33
61	X4401198	HOT-MIX ASPHALT SURFACE REMOVAL VARIABLE DEPTH	1,409.0	SQ YD	\$10.00	\$14,090.00	\$5.40	\$9.15	\$7.52
62	X6030205	FRAMES AND GRATES TO BE ADJUSTED (SPECIAL)	141.0	EACH	\$600.00	\$84,600.00	\$650.00	\$685.00	\$661.67
63	X6700405	ENGINEER'S FIELD OFFICE, TYPE A (MODIFIED)	3.0	CAL MO	\$3,000.00	\$9,000.00	\$2,600.00	\$3,500.00	\$3,108.33
64	X7010216	TRAFFIC CONTROL AND PROTECTION (SPECIAL)	1.0	L SUM	\$68,403.47	\$68,403.47	\$23,800.00	\$308,832.13	\$144,181.38
65	X7810300	RECESSED REFLECTIVE PAVEMENT MARKER	492.0	EACH	\$30.00	\$14,760.00	\$27.25	\$27.25	\$27.25
66	XX003435	PORTLAND CEMENT CONCRETE DRIVEWAY REMOVAL AND REPLACEMENT	779.0	SQ YD	\$65.00	\$50,635.00	\$65.00	\$85.00	\$74.33
67	XX006343	SEEDING (COMPLETE)	160.0	SQ YD	\$10.00	\$1,600.00	\$10.00	\$18.00	\$12.67
68	XX006344	SODDING (COMPLETE)	1,660.0	SQ YD	\$12.50	\$20,750.00	\$14.00	\$22.00	\$18.67



Project: Lewis Avenue Resurfacing

Section: 14-00999-05-RS

Description: Mill and resurface, bridge removal

					Eng Es	timate			
Item No.	Pay Code	Description	Quantity	Unit	Unit Price	Extnd. Price	Min. Bid Price	Max. Bid Price	Avg. Bid Price
69	XX006729	PERIMETER EROSION BARRIER, ROLLED EXCELSIOR	461.0	FOOT	\$5.00	\$2,305.00	\$10.00	\$20.00	\$14.00
70	XX206400	MAILBOX POST	18.0	EACH	\$150.00	\$2,700.00	\$150.00	\$200.00	\$183.33
71	Z0018400	DRAINAGE STRUCTURES TO BE ADJUSTED	30.0	EACH	\$1,000.00	\$30,000.00	\$350.00	\$400.00	\$366.67
72	Z0019600	DUST CONTROL WATERING	20.0	UNIT	\$25.00	\$500.00	\$1.00	\$100.00	\$37.00
		Bid Total				\$2,357,901.42			